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Match #6


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
At the end of the novel, her husband leaves her daughter his entire fortune, despite the fact the daughter was the product of adultery. Who had an illegitimate child with Arthur Dimmesdale and is made to wear an “A” on her chest in The Scarlet Letter?

ANSWER: Hester Prynne (prompt on just one name)
2.
This organ is made of two parts called the adenohypophysis (uh-den-noh-high-POFF-ih-sis) and neurohypophysis (new-roh-high-POFF-ih-sis), the infundibulum (in-fun-dih-BEW-lum) attaches it to the hypothalamus (high-poh-THAH-luh-mus).  Endorphins and human growth hormone are secreted by what master gland? 

ANSWER:
pituitary gland

3.
Born Moshe (MOH-sheh) Segal, he was jailed in St. Petersburg because Jews were not allowed to live there without a permit.  A member of the Montparnasse (mont-par-NASS) art community, works of his include The White Crucifixion and The Jerusalem Windows.  Identify this painter of the proto-surrealist work I and the Village.

ANSWER:  Marc Chagall (sha-GAHL)

4.
THIS IS A COMPUTATION QUESTION.  A license plate has six characters, with the first a letter, and the others the digits zero through nine, with repeated digits allowed. How many different combinations are possible? 

ANSWER:
2,600,000 (simply 26 times 10 to the fifth)

5.
This political party fell apart after a disastrous showing in the 1914 elections, and enabled the conservative Taft wing of the Republicans to control the party for the next 20 years. What political party was prominent briefly in 1912 when it nominated Theodore Roosevelt for President? 

ANSWER: Progressive or Bull Moose Party

6.
Lower class women in this novel are referred to as “Marthas” or “Econowives.” The central characters, Fred, Serena Joy and Offred (“of Fred”), are citizens of the fundamentalist Republic of Gilead, where infertility is a problem. In what Margaret Atwood novel are fertile women assigned to high-ranking couples to conceive children? 

ANSWER: The Handmaid’s Tale
7.
If you say to a French speaker the three words parlez plus lentement (PAR-lay PLEW LAWNT-mawn), what have you asked her to do?

ANSWER: speak more slowly or speak slower (accept equivalents)

8.
Boca Raton, Florida is the headquarters for this publication, originally printed in New York.  After losing a 1981 libel suit to Carol Burnett, it began to change its reporting style from lurid to more factual. Its parent company was a victim of the 2001 anthrax attacks, and in the same year, it uncovered the fact that Jesse Jackson had an illegitimate child.  Identify this famous American supermarket tabloid. 

ANSWER:   The National Enquirer
9.
He was the United Kingdom’s Prime Minister between 1828 and 1830. He won the battles of Assaye (ah-SAYE) and Argaum (ar-GAWM) in the 1803 Maratha War, and then led British and Portuguese forces to victory over the French during the Peninsular War. The capital of New Zealand is named for what general that defeated Napoleon at Waterloo? 

ANSWER: Duke of Wellington or Arthur Wellesley
10.
It is also called the DJP algorithm. What computer science algorithm is used to find the minimum spanning tree between a set of points with predefined connection paths, and also provides a “proper” answer?

ANSWER: Prim’s algorithm

11.
Laws against this crime this were passed in the early 20th century since vehicles didn’t have license plates and the perpetrator could easily drive off. Its punishments include losing a driver’s license or imprisonment. What crime is colliding with someone or something and then driving off without notification?

ANSWER: hit and run
12.
January saw the release of version 3 of what software license that is popular among free and open source software, including the Linux operating system kernel?

ANSWER:  GNU General Public License
13.
This book’s narrator, Stingo, is writing his first novel when he meets the title character and her lover, Nathan Landau. In what William Styron novel does the title character eventually reveal that a concentration camp doctor made her choose between the lives of her two children? 

ANSWER: Sophie’s Choice
14.
This element has an average atomic mass of 140.1 and atomic number 58.  It is the most common, in the earth’s crust, of the rare earth metals. Name this element, named for an asteroid, with symbol Ce.

ANSWER:
cerium
15.
This effect’s acceleration is the cross-product of the particle’s velocity in the rotating system and negative two times the angular velocity vector. It is largely irrelevant to a flushing toilet, due to other factors like the bowl’s shape. What effect causes cyclones to rotate in different directions in the Northern and Southern Hemispheres? 

ANSWER: Coriolis effect

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
THIS IS A COMPUTATION QUESTION.  What number, when divided by 12, yields a quotient of 9 and a remainder of 9?

ANSWER:
117
1B.
A superflu nicknamed “Captain Trips” and opposing leaders Mother Abigail and Randall Flagg all feature in what Steven King novel? 

ANSWER: The Stand
2A.
What name is given to writing a phrase so each word begins with the same consonant sound, such as “fifty flying fireflies?”

ANSWER: alliteration or alliterative (accept word forms)

2B.
What does the hormone involved in hair loss, FSH, stand for?

ANSWER:
follicle-stimulating hormone

3A.
What buzzword, from the Greek for “working together,” is used to describe a merged corporation making more profit than the two components individually?

ANSWER: synergy
3B.
What velvet-voiced R&B singer died from cancer in January 2006 and was known for hosting the “Parade of Stars” telethon for the United Negro College Fund and for the song, “You’ll Never Find Another Love Like Mine”? 

ANSWER:  Lou Rawls
4A.
Nephrons are functional units of what organ?

ANSWER:
kidney
4B.
THIS IS A COMPUTATION QUESTION.  What is the midpoint of the points (3 plus 7i, 9 minus 11i) and (37 plus 5i, 5 plus 27i)?

ANSWER:
(20 plus 6i, 7 plus 8i)
5A.
Deutsch (DOICH), or “D”, numbers, are used to catalog the nearly 1,000 works of what Austrian composer of hundreds of songs, or Lieder? 

ANSWER:  Franz Schubert
5B.
The Chesapeake Bay is largely fed at its northern end by what river that empties into the Bay at Havre (hav-er) de Grace, Maryland? 

ANSWER: Susquehanna River

6A.
THIS IS A COMPUTATION QUESTION. What is the surface area of a brick of dimensions 7 feet, 3 feet, and 5 feet?

ANSWER:
142 square feet
6A.
What form of poetry has fourteen lines and two rhyming schemes – Shakespearean and Petrarchan (puh-TRARK-un)?
ANSWER: sonnet
7A.
Between 1309 and 1377, the Papacy was based in what French city instead of Rome?

ANSWER: Avignon (ah-VEEN-yohn)
7B.
THIS IS A COMPUTATION QUESTION.  If Albert Pujols (POO-hohls) plays 162 games, averages 4 at-bats per game and hits a home run every 8 at-bats, how many home runs would he hit?

ANSWER:
81
8A.
In May 2005, an Alexandria courtroom saw the sentencing of what man who had declared himself to be Al-Qaeda and was convicted of terrorism charges related to the September 11th hijackings?

ANSWER: Zacarias Moussaoui (moo-SOW-wee)
8B.
What US ship was captured by North Korean soldiers in 1968 and remains in North Korean hands to this today?

ANSWER: USS Pueblo
9A.
What is the SI unit for energy?

ANSWER:
joule
9B.
What is the colored outline that emanates from an object, reflecting the all-pervasive supernatural, a name also given to the sensations that come before a migraine?

ANSWER: auras or aurae

10A.
The novel Wolf is a retelling of what fairy tale featuring a wolf that chows down on the title character and her grandmother? 

ANSWER: Little Red Riding-Hood
10B. 
Granite, basalt and obsidian are what type of rock that is formed from cooling magma?

ANSWER: igneous
Third period, 15 toss-ups, 10 points each

1.
The Christians in India that the Portuguese encountered in 1498 trace their origin to this disciple, who was also called Didymus (DEE-dih-muss), or “the twin.” In Chapter 20 of John, Christ tells what disciple, “Because you have seen me, you have believed,” in response to his earlier doubts about Christ’s Resurrection?

ANSWER: (Doubting) Thomas the Apostle or Jude Thomas Didymus

2.
The oldest, Sialk, is in Iran and dates to around 3000 BC, although most of the known ones are in Iraq. There is a well-preserved one in the ruins of Ur and the largest known was built for Marduk in the ruins of Babylon. What multi-tiered towers dominated Mesopotamian cities and were believed to be the homes of the gods? 

ANSWER: ziggurat
3.
Meant to demonstrate the absurdity of the Copenhagen interpretation of quantum mechanics, it involves a superposition of states with a radioactive nucleus, poison gas, and an animal that is simultaneously dead and alive.  Name this thought experiment named after an Austrian physicist and a feline.

ANSWER:
Schrodinger’s cat
4.
This loosely-connected series of short stories takes place during Wyoming’s Johnson County War in the 1890s. A 1960s Western TV series, unusual in that it ran for 90 minutes, is based on what Owen Wister work that never names its title character, but only refers to him by his home state – the one you call home? 

ANSWER: The Virginian
5.
Her name may have either been Nimue or Viviane; either way, she raises Lancelot until his eighteenth birthday.  Sir Balin decapitated one incarnation of what female being who gives the sword Excalibur to King Arthur?

ANSWER:  The Lady of the Lake
6.
Identify the appositive phrase in the following sentence. William the Conqueror, the winner of the battle of Hastings, died in 1087 AD after he fell off his horse. 

ANSWER: the winner of the battle of Hastings 

7.
A synthetic version of a protein in its saliva is used to treat type 2 diabetes.  Known as Heloderma (hee-loh-DER-muh) suspectum (suh-SPEK-tum), name this venomous, 2-foot long lizard that lives in the southwest U.S.

ANSWER:
Gila monster (can be pronounced HEE-luh or GHEE-luh)

8.
In response to this law, the Vice-President anonymously wrote the South Carolina Exposition and Protest. Although another law moderating it was passed four years later, South Carolina passed the Ordinance of Nullification declaring both laws “null and void” within its borders. What nickname was given by Southerners to the Tariff of ** 1828?

ANSWER: Tariff of Abominations (accept Tariff of 1828 before the **)

9.
Players at this position have used three main styles:  Stand Up, popularized by Jacques Plante; Toes Up, notably used by Grant Fuhr; and Butterfly, mastered by Patrick Roy (WAH).  Ron Hextall and Martin Brodeur (bro-DURE) are the only players at what position to score two times in the NHL, which awards the Vezina Trophy to the best in a given year?

ANSWER:  goaltender (or goalie)

10.
How many zeroes are in a googol?

ANSWER:
100
11.
This word comes from Latin words meaning “throughout” and “year”. In the everyday sense, it means someone or something that has persisted for a long time, or is even perpetual. What word do botanists use to describe a plant that lives for several years?

ANSWER: perennial 

12.
In late April 1915, next to ads in American newspapers for what was to be its last voyage, the German Embassy published ads warning travelers that ships flying the British flag were under risk of attack. On May 7, 1915, Captain Walter (VAHL-ter) Schwieger (SHVEE-gher) of the U-20 sunk what passenger liner off the coast of Ireland?

ANSWER: RMS Lusitania
13.
LBJ died on the day this Supreme Court case was announced. In 1995, this case’s plaintiff switched sides and has since fought to overturn it. The Webster decision in 1989 and the Casey decision of 1992 reaffirmed it, but allowed states some leeway. What 1973 Supreme Court decision overturned state laws regarding abortion?

ANSWER: Roe v. Wade
14.
Using spectral analysis, he discovered cesium and rubidium along with Gustav Kirchoff (KEER-hoff); for this, he used a high temperature, low luminosity flame. What German chemist’s lab assistant had previously perfected a design by Michael Faraday consisting of a long tube containing flammable gas, an apparatus known as a “burner”? 

ANSWER: Robert Wilhelm Bunsen

15.
Following his appearance in cartoon form in the Jyllands-Posten [YILL-ands POST-en], violent riots occurred in both Europe and the Middle East, along with a boycott on Danish goods.  Saudi Arabia and Libya both withdrew their ambassadors to Denmark in response to a cartoon depiction of what central Islamic figure?

ANSWER: Mohammed 

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
THIS IS A COMPUTATION QUESTION. What is the measure of an interior angle of a regular hexagon?

ANSWER:
120 degrees
2.
Rides at this park include the Lightning Racer and the recently completed Storm Runner. Its “Candylane” is open between Thanksgiving and Christmas. Zooamerica and Chocolate World are adjacent to what theme park run by and named for a candy-making company in Pennsylvania? 

ANSWER:  Hershey Park
3.
2006 saw the introduction of juice blend varieties to the series; mixed with Tazo Tea, they were available in pomegranate and tangerine.  Pepsi manufactures the bottled version, available in coffee, caramel, and mocha flavors.  What is this blended ice beverage made by and sold in Starbucks?

ANSWER:   Frappuccino
4.
Invented by Wallace Carothers in 1935, it is also referred to as polyamide and was intended to be a synthetic replacement for silk.  Name this polymer used in parachutes and pantyhose.

ANSWER:
nylon
5.
He fathered illegitimate children with fellow writers Amber Reeves and Rebecca West, and wrote The Outline of History. What English writer is more familiar for his science fiction, such as Anticipations, The Island of Doctor Moreau, The Invisible Man, The Time Machine and The War of the Worlds? 

ANSWER: H.G. Wells
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

